Name: Class:
Division

Match the answer with the question.

11a. 8,636+ 17 = 5 «E =136
b. 4,459 +7 = . «F = 838
c. 4788+7 = . «C =508
d. 2,040+15 = . el =130
e. 16,038 +18 = . «H =684
f. 5292+9 = . B =915
g. 15,922 +19 = . « A = 891
h. 17,385+ 19 = . «G =588
i. 390+3 = . «J = 181
j. 3,439 +19 = . D =637

2 |la. 6,776+ 8 = . «J = 653
b. 6,666 +11 = . o| =995
c. 6,432+12 = . «C =837
d. 4975+5 = . «A =45
e. 530+10 = . «G =730
f. 6,530+10 = . B = 536
g. 5110+7 = . D = 847
h. 5,022 +6 = . «H = 606
i. 10,788 +12 = . «F =53
j. 495+11 = . «E = 899




Name:

1.

Class:
Division
Match the answer with the question.
a. 8,636+17 = C E = 136
b. 4,459 +7 = D F = 838
c. 4788+7 = H ‘ C = 508
d. 2,040 + 15 = E ‘ | = 130
e. 16,038 + 18 = A H = 684
f. 5202+9 = G é‘ B = 915
g. 15,922 +19 = F ,‘: A = 891
h. 17,385+ 19 = B G = 588
i. 390+3 = | J = 181
j. 3,439 +19 = J D = 637
a. 6,776+8 = D J = 653
b. 6,666+ 11 = H | = 995
c. 6,432 +12 = B — C = 837
d. 4975+5 = | \’\ A = 45
e. 530+ 10 = F ‘\‘\, G = 730
f. 6,530+ 10 = J é’ B = 536
g. 5110+7 = G D = 847
h. 5,022+6 = C H = 606
i. 10,788 +12 = E F =53
. 495+ 11 = A E = 899




